1.

G- 92.8LE 3.2L5°]9] Wl 715 Hirol §edal
25 9 7 Qlejof stEA] e L.

a = bl

o

SEER



2. 7296+ 2.7 I Fo] E2 Al o= AJUR

@® 72.96 + 27 @ 729.6 + 27 ® 7296 + 270

@ 7.296 + 27 ® 72.96 +0.27



3. 77514 O RS &5 AA A THS 1) 1 A S T4
2.

D L
-



o= A2

olJ

o] Lhirol Az aitt 2

IS

op

@ 64+1.6 ® 64+24

D 64 +0.8

® 64+64

@ 64 +3.2



5. oH FE38E Uiro] HZ 44 AA A7t FoklEY 5.40]1,
U7k 0.120] 5T o]dH 8 F5HAL.

D R
=%



6. AFETACIAL 45 B 5210 180.45L 0] Bo] L}, OFEEA|0]
A 1 A17E 12 2 59te] 220321, 0] Bo] gtk LB of A
2 X174 36 2 EoH BS WO B o] B8 WG 5 x| TN L,

S EER L



